1.1" Distortionless Macro Lens / 512007, 1.15<t/4K 4 #sif L EmIEsEL

[ ]
VS-LDV Serles &l VS-LDV50 VS-LDV75
a3 50
m m 500~150 500~150
5000 1500 5000 1500
. 11" 101.0x138.21 28.9x39.5  73.6x100.7' 25.8x35.3
S'ZEI:%'I 2004, 1.1%?/4K ﬁj\ﬁ#'_._g O /3" 69.6x824 | 199x235  507x600 | 17.8x21.0
/1l =z 3| f=  0.102x ' 0.357x 0.140x ' 0.400x
(R RREEsRSL WD 4564 | 1462 4763 ' 1468
° 3_45“m§j\¥}$$ 05 11" 92.0x125.9! 28.1x38.4 70.5x96.6 | 25.3x34.6
2/3" 634x750 ' 193x229  48.6x57.5 ' 17.4x20.6
o 4NELS: 25.135. f50. f75mm = 0112x | 0367 0146x | 0407
o ERTFIOZNA (SEIT{EIER) wD 4198 | 1426 4528 | 1441
— s 1.1" 844x115.6, 27.3x37.4  67.3x92.2 | 24.9x34.1
m— I EEMEEEEERIT 2s vsovso Va3 582x689 | 188x223  464x549 | 17.2x203
= 0122x | 0.377x 0.153x | 0.413x
e o) ) R . G wo 3887 . 1392 4313 1411
& 15 11" 780x1068 266x364  644x88.1 | 245x33.6
e 2/3" 53.8x63.6 | 183x21.7  44.4x52.5 | 16.9x20.0
- a@ \ % 0.132x | 0387x___ 0.160x | 0.420x
oL 1. = WD 3621 ' 1359 4144 1 1382
S8 T s s o ‘ , 11" 725x993 | 259x355  62.0x849 | 24.1x330
Qg 2/3" 50.0x59.2 | 17.9x212  42.8x50.6 | 16.6x19.7
Rl = 0.142x | 0397x 0.166x | 0.427x
513 :TZ :052: sj:: 5 (0.21x) (0/1) = wo 2575 _, 194 3266, 1231
0.5 S (%) 0.5 5 11" 51.0x698 | 2256309  500x684 | 22.1x302
2/3" 35.1x41.6 |, 155x184  34.5x40.8 , 15.2x18.0
I — fe=  0202x | 0.457x 0.206x | 0.467x
m— |I BIRERE  (B%E) wp 1755 1 99.7 2373 1 1033
motog o sowom - VS-LDV25 VS-LDV35 10 117 34.1x467 18.5x25.3 37.7x51.63 19.3x26.5
; 4 125 23" 235x27.8 | 127x151  260x30.8 | 133x158
I 500~100 500~150 @@= 0302x | 0.557x 0.273x | 0.533x
WD 5000 1 100.0 5000 1 150.0 wp 1343 | 86.1 1831 | 875
. . N 214.6x293.s} 49.3%67.5 149.3x204.3} 47.2x64.7 15 M7 256351 | 157215 303x415 | 17.x235
3 g 2/3" 147.9x175.0 © 34.0x40.2 102.9x121.7 ' 32.6x38.5 2/3" 17.7x20.9 ' 10.8x12.8  20.9x24.7 | 11.8x14.0
fs=  0.048x | 0.209x 0.069x ' 0.218x = 0402x '  0.657x 0340x | 0.600x
— WD 3481 | 893 4119 ' 954 wD 1096 | 760 1473 | 750
M Lock sorew lo-nount 05 11" 151.5x207.4 | 45.0461.6 124.1x169.9 | 31.2x42.7 ,o 117 205081 | 136x186  254x347 | 154x1.1
562.5 (0.07) ~217.7 (0.2 (©:1) 7 2/3" 104.4x1235 ' 31.0x36.7  85.5x101.2 ' 21.5x25.5 23" 141x167 | 94x11.1  17.5x20.7 | 10.6x12.6
s 0.068x | 0.229x 0083 ' 0330x @@= 0502x | 0.757x 0.406x | 0.667x
WD 2644 : 65.0 3509 : 90.7 Wo 930 | 683 121.1 : 64.9
, 117 117.0x1602 | 414x56.6  106.2x145.4 | 29.9x40.9 ,s M1 17.x234 | 12.0x165  21.8x29.8 | 14.1x19.2
500.0 0. 10) 57.5 (0101 2/3" 80.7x95.5 | 28.5x33.7  73.2x86.6 | 20.6x24.3 23" 11.8x140 | 83x98  15.0x17.8 | 9.7x11.5
~150.0 (0.36x] (WD) ~70.25 (0.36x] 17.526, T T T T
T fi% 0088 | 0.24% 0097x | 0345 @z 0.602x |  0.857x 0473x | 0.733x
wp 2118 1 730 3052 1 868 wp 812 | 622 1014 1 563
% 15 M 954x1306 | 383x524 928x127.0 1 287x393 14" 147x20.0 | 108x147 19.1x26.1 | 12.9x17:6
. 23" 657x77.8 1 264x31.2  64.0x75.7 | 19.8x23.4 23" 101x12.0 | 74x88  13.Ix15.6 | 89x105
g g - -1 & = 0.108x ' 0.269x 0.111x ' 0.359x = 0702x | 0.957x 0.540x ' 0.800x
WD 1755 1 669 2676 ' 83.1 wp 721 ' 573 863 | 490
TN e , 11" _805x1102 | 358x49.0 81.7x1119 | 27.6x37.8 g5 147 1284176 | 97x133  17.0x233 | 11.9x163
2M2 Lock sorew |C-mount. 2/3" 55.5x65.6 | 24.7x29.2  56.3x66.7 ' 19.0x22.5 23" 89x10.5 | 6.7x7.9 11.7x13.9 | 8.2x9.7
575.0 [0.10x) ~237.8 (0.36x) (0°1) fs%=  0.128x | 0.288x 0.126x | 0373x (= 0802x | 1.057x 0.606x | 0.867x
wp 809 | 413 1554 | 655 WD 654 | 532 740 | 429
m— 5 11" 41.5x569 | 252x346  48.8x668 | 22.4x307 s M7 114156 8.9x12.2 15.3x21.03 11.0x15.1
w000 s 0100 2/3" 28.6x33.9 ‘ 17.4x206  33.6x39.8 315.5x‘|8.3 237993 | 61x73 1056125 | 76090
~150.0 (0. 40x) (D) ~100.9 (0. 40x) (=S 0.248x | 0.408x 0.211x , 0.459x fF=  0.902x 1.157x 0.673x 1 0.933x
wD | 882 | 474 WD 599 1 497 639 | 375
o M ‘ 29.1x39.8 317.1x23.5 g 117 103x141 1 8212 13.9x19.1 1 103x14.1
23" | 20.1x23.7 1 11.8x14.0 23" 70x84 | 5.6%6.7 9.6x114 | 7.1x84
. - fa | 0354x 1 0.601x = 1.002x | 1.257x 0740x ' 1.000x
: ® WD ! 598 | 362 WD 553 | 4638 556 | 328
. ! 20.8x28.4 ' 13.8x19.0 s M 93x128 | 76x104 128x17.5 | 9.7x132
ot 23" ! 143x16.9 | 9.5x11.3 23" 64x76 | 5.2x62 8.8x104 | 6.7x7.9
e ! 0.496x ' 0.744x @= 1.002x | 1.357x 0.806x | 1.067x

26

VS-LDV50 VS-LDV75
25 mm 35mm 50 mm 75 mm
1:3.5 jI:355! 1:3.5 1:4.0
0.05x ~0.21x 0.07x ~0.22x 0.10x ~0.36x 0.14x ~ 0.4x
vz 0.05x : 0.11x 0.21x 0.07x : 0.17x 0.22x 0.10x 0.26x 0.36x 0.14x 0.32x 0.4x
MEF (VxH) 11" 206.0x2820 | 93.6x128.2 49.1x67.1 147.1x201.4 | 60.6x82.9 | 46.8x64.1 103.0x141.0 | 39.6x54.2 28.6x39.2 73.6x100.7 32.2x44.1 25.8x35.3
() 1" 225.2x225.2 1024x102.4 53.6x53.6 160.9 x 160.9 66.2 X 66.2 51.2x51.2 112.6x112.6 433x43.3 31.3x31.3 80.4x 80.4 35.2x35.2 28.2x28.2
2/3" 142.0x168.0 | 64.6x76.4 33.8x40.0 101.4x1200 ;| 41.8x49.4 : 323x38.2 71.0x 84.0 27.3x32.3 19.7x23.3 50.7 x 60.0 22.2x26.3 17.8x21.0
WD 500.0 mm 200.0 mm 100.0 mm 500.0 mm 200.0 mm 150.0 mm 500.0 mm 200.0 mm 150.0 mm 500.0 mm 200.0 mm 150.0 mm
WigiEEER O/ 573.5mm 2752 mm 177.5 mm 562.5 mm 265.9 mm 217.7 mm 575.0 mm 283.0 mm 237.7 mm 607.9 mm 321.1 mm 277.4mm
SCF * HESTT 3.6 3.6 3.7 3.6 3.7 3.8 3.8 44 4.7 4.4 4.9 5.1
=R A 1152mm | 23.8 mm 6.7 mm 58.8 mm 10.2 mm 6.3 mm 304 mm 52mm 2.9 mm 18.0 mm 3.8mm 2.6 mm
TVERE (1.1 0.27 % 0.03 % -0.28 % 0.16 % -0.03 % -0.12% 0.09 % -0.02 % -0.05 % 0.10 % -0.08 % -0.13%
Binyt=(Y=8.8) 84 % 86 % 89 % 87 % : 89 % : 90 % 90 % 95 % 96 % 95 % 96 % ] 97 %
RIESE Manual (Lock Screw M2 ) Manual (Lock Screw M2 ) Manual (Lock Screw M2 ) Manual (Lock Screw M2 )
BT Visible Visible Visible Visible
#0O C-Mount C-Mount C-Mount C-Mount
R 17.526 mm 17.526 mm 17.526 mm 17.526 mm
BETH(max) [KH g 11" TP
EROER M305 P=05 M305 P=05 M305 P=05 M405 P=05
== 1609 1159 1269 2859

*1 FHFEEELEP0.04mm





